SHAZE ABC oA /B o] A5EAT} C 9] 2]7}+9] o] 5-H A 9]
THEED E} sk, /BDC 9] 27]=9

A

30°

@® 25° @27.5" ® 30° @ 32.5° ® 35°

B ~
AABC °|A /B = /C = (180°-30°) +2 = 75° °]2& /DBC =
75° + 3 = 25°

183 /ACE = 180° - 75° = 105° , ZACD = 105° + 2 = 52.5°
wabd /BDC = 180° — (25° + 75° + 52.5°) = 27.5°
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o2 I A H 1= AABC 9] WAolth /CAI = 25° o, /BIC
o] 2712

A

@® 105° @ 110° @1150 @ 120° ® 125°

1
A 17F AABC O] YA Y o, /BIC =90° + §ZA°]E}.

A 17F Al WzHe] o] 5 E4e] wgolBz
/CAI = 25° o] /BAI = 25°°]|t},
/A = /BAC =50°

1
. /BIC =90°+ 3 x50°=115°
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@117° @ 118° ® 119° @ 120° ® 121°

~&B

ODABCD cooEFGHO| B2 /E = /A = 60°
" /x =360° - (60° + 73° 4 110°)

= 360°—243°

=117°




o F =g lA DF 9] dol=?

@60111 @ Tcm ® 8cm @ 9cm ® 10cm

~&B

£C=180° - (30°+85°) = 65°
/D =180° - (30° 4 65°) = 85°°| A
AABC O ADEF ( AA S 1::)
F2HE=BC:EF=5:15=1:3
AC:DF =1:39°)4 DF = 6cm




oS AALZHS oABCD 9F oEFGH €| o E H
5to] mABCD o0 oEFGH ©]1, H-&H|7}
1:2 ¢ oEFGH 9] E89] Zo]9] &
a 2t b 2 A JEpd A2

W -Q- 2>

\b/
@ 2(a+b) @ 3(a+b) F

@4(a+b) @ 5(a+b)
® 6(a+b)

0}

S8 ~
OABCD ¢} oEFGH 9] §-3H]7} 1: 2 o] B2 7} tff-g- ¥ 9] Zo]
o] H|kE 1 : 2 o|t}.
AB:EF=1:2=q:EF |22 EF = 24 °|t}.
BC:FG=1:2=5b:FG |22 FG = 2b o|t}.

OEFGH ] £d9] ol (712 + A|&)x 2 0] B2 (2a + 2b) X
2 =4(a+b) oIt
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AB:AB' =6:12=1:20]E2
10:x=1:29A

x=20
y:8=1:2, 2y =8°JA
y=4

Lx+y=20+4=24
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10.

th& =3} Zro] A zZto| 5 HAIZIS] ABC 9
F 4B, ColA HAE A= ‘/ﬂOﬂ =l A
/\/1-1_4 1:11-2_71-71-]:) Ea-o]. ]- BD = 14cm
,CE =9cm ¥ ], DE 9] Zo|=? p<ldan i}
E 9em” C

@ 3cm @ 3.5cm ® 4cm
@ 4.5cm ®)5cm

AABD = ACAE (RHA $%5)0]|22 BD = AE = l4cm ,

AD = CE = 9cm
. DE = AE - AD = 5(cm)




11.

o2 T1EelA A 1+ AABC o UiAelx, Al i D,E, F & ZH2F Wi H
A3 Al ¥ AB,BC, AC 2] Holth AB = 10cm, BC = 8cm, AC =
l4cm € ], EC 9] Zol= dufelr}?

@ 4cm @ 5cm @Gcm @ 7cm ® 8cm

~&B

A 17 A2 9] YAlo]22 AD = AF,BE = BD,CE = CF
ojr}.

EC = x 2t 5}9, EC =CF = x °|1, BE
AF=14-x=AD
AB=AD+DB=14-x4+8-x=10°|2& 22-2x = 10,12 =
2x o]t}

sox=6(cm)

x = BD,




12. 274219 ABC 9] 1499 §Ex]Fo] 15, WY o] ¥hA50] 6
o, 212144249 ABC 9] HolE F-shei=t.

Q]
=

S AR - R
AE=AF=a23HAC=a+6

AB =2B0O =30 0|22
BD=BF=30-a

- BC=BD+DC=(30-a)+6=36-a

. AABC = L(AB 4+ BC + CA) x 6

:§X{30+(36—a)+(a+6)}><6
=216




13. th A2 ABCD 7 BRG] =S x, 2y 9 3 Fololel,

A D
112° U<
]
4‘
B C
= e
£t °

Fo1z1 2219 934 DABCD 7} BgArAF o] == H 112° +
Ly + 34° = 180° 7} A sfoF gtct.
w2bA] 2y = 34° o[t}

AD//BColnz . = 3

5 =17 ojr}.

Az o] YZhe] &2 180° OB &2 sx = 17° + 112° = 129°
ojtt,

whEhA] zx = 129°, £y = 34° ©|t},
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